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Question Number : 1 Question Id : 40503610856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Using screw gauge of pitch 0.1 cm and
50 divisions on its circular scale, the
thickness of an object is measured. It
should correctly be recorded as:

Options :

2 12
40503639501, =123 €m

Y 1
40503639502, =124 cm

40503639503, 2125 cm

I~

40503639504, 2121 cm

Question Number : 1 Question Id : 40503610856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A %1 AfE B T #1901 cm @ @R
THF I Thel W50 SR @ o 75 i Her
%1 56 WK H Het forean smam

Options :

40503639501, =123 €m

40503639502, =124 cm

40503639503, 2125 cm

40503639504, 2121 cm

Question Number : 2 Question Id : 40503610857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A charged particle carrying charge 1 pC is
moving with velocity (2; | '5), | 4;(3

ms~ L If an external magnetic field of

|57 +37 —6k) x1073 T exists in the
region where the particle is moving then

—

the force on the particle is F x 1079 N.

—
The vector F is:

Options :

&wll}egedumia%
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030i + 0.32j — 0.09%

40503639505,
40503639506. 3.0i + 3.2] — 0.9k
40503639507. 307 4 32'} "y

40503639508. 3000 + 320j — 90k

Question Number : 2 Question Id : 40503610857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
TF HAERE 9 59 W1 puC H =9 2

[2; |3'} |4f}} ms~ 1 I A A @ T afe
0% | T (57 + 3] 6k) x 1073 T
F R G4 T 9 F W A el g

Fx 102N 81 F S35 ? :

Options :
-/I' ’jf-: L_z.
10503630505, ~ 0-30F + 0.32 — 0.09%
3.0i + 32j — 09k
40503639506.
A ,}'/‘. A
40503639507, ~ 201 + 32] — 9%k
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_.-'I. '} _.-':__ A
40503639508, 2001 + 320j — 90k

Question Number : 3 Question Id : 40503610858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A block of mass m=1 kg slides with
velocity v=6 m/s on a frictionless
horizontal surface and collides with a
uniform vertical rod and sticks to it as
shown. The rod is pivoted about O and
swings as a result of the collision making
angle 6 before momentarily coming, to rest.
If the rod has mass M=2 kg, and length
[=1 m, the value of 0§ is approximately :
(take g=10 m/s?

Options :
40503639509, 49°

40503639510, 20

40503639511. 65
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40503639512, 69°

Question Number : 3 Question Id : 40503610858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

lkgﬁﬁﬂ'ﬂﬂﬁﬁﬁm@“@IJ:ﬁmﬁé‘T
¥ uF Tim-feq 4fqe a9 W ¥ g UE
THETH A P F THOA ¢ AN TH W
farF s (A 3E) | BsOmIME
#R 39 TFR F FRU JHF T TU R F
o T4 ¥ T2l 0 0 5911 2| AfE B H
FAM 2 kg AR @ 1 m & a1 0 F T4
I BT : (g =10 m/s?)

Options :
40503639509 49°

40503639510, 2

40503639511. 65

40503639512, 69°



Question Number : 4 Question Id : 40503610859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Moment of inertia of a cylinder of mass M,
length L and radius R about an axis passing,

through its centre and perpendicular to the
' 2 | 12)
4 P
If such a cylinder is to be made for a given
mass of a material, the ratio L/R for it to

have minimum pnssihlr:- Iis:

R

'
axis of the C}-'Lindr_-r is I=NM ‘

Options :
3
P
40503639513. V2

:
40503639514, 2

|
40503639515. V2

..--?|Ix.1_].

Mo

40503639516.

Question Number : 4 Question Id : 40503610859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




T FEM (cylinder) F% H 21 9H 916 31T
=e % A % TrEEd U A 6 ford sieH

'(12
S [ = M I

=+ 290, R THHI 5 3R LS9 aw=n
€| Afg U fod gu s=mm & fodt werd 9 s
e S W @ THE JSEy &+ gAaH
H F fad L/ R 1 S99 20

o -
b= | ¥ <@ M e
12/

Options :

40503639513. '=

40503639514.

40503639515. Ve

MW

40503639516.

Question Number : 5 Question Id : 40503610860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1



A satellite is moving ina low nearly circular
orbit around the earth. Its radius is roughly
equal to that of the earth’s radius R,. By
firing rockets attached to it, its speed is

instantaneously increased in the direction

of its motion so that it become \JIE Hmes

larger. Due to this the farthest distance
from the centre of the earth that the satellite
reaches is R. Value of Ris:

Options :

40503639517. R,

2
40503639518. e

40503639519. e

2.5R
40503639520. &

Question Number : 5 Question Id : 40503610860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
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UF IUE YAl & 91 AR T FOHR FH
T I U HA H Fl W HEl
T geEl F A R, 3 e € | o v
&0 T I9UE T oF Tehdl i SFTEHL S9!

mﬁmﬂﬁrmﬁﬂﬂﬁ?ﬂﬁgﬁﬁ
<t ST &1 S FR0 YA F e H STUE h
AFTH AR AT EI R FTHAE :

Options :

40503639517. e

2
40503639518. 2R

40503639519. e

2.5R
40503639520. =

Question Number : 6 Question Id : 40503610861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Pressure inside two soap bubbles are 1.01
and 1.02 atmosphere, respectively. The
ratio of their volumes is :

Options :

40503639521, -8+ 1

40503639522, 21 &@@H@g%dumﬁa%

tform



40503639523, 471

40503639524, 51

Question Number : 6 Question Id : 40503610861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A % IHT | =1 51 Goadell & L FH 3414
V=S F S 9 FHEE: 1.01 3T 1.02 T
SATET & | 1 Fereel & AFa 1 ST @ ;
Options :

40503639521, 08+ 1

]
i

40503639522.

40503639523, +°1

40503639524, 51

Question Number : 7 Question Id : 40503610862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
A  balloon filled with helium
(32°C and 1.7 atm.) bursts. Immediately
afterwards the expansion of helium can be
considered as :




Options :
40503639525, Teversible adiabatic

40503639526, reversible isothermal

40503639527, reversible adiabatic

40503639528 irreversible isothermal

Question Number : 7 Question Id : 40503610862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TF TR H O gg dfedn F1 arEe
32°C, 919 1.7 9gAYSH <99 & J0EE ¢ |
e A T Fedl © A Fe % qd A T
it Eiferas 19 Therdl &1 g8 e
Options :
40503639525, RIGED T&I™ (reversible adiabatic) %’I
gyfaadl  guamdg (reversible
40503639526, 1s0thermal) |

A IIHT S (irreversible adiabatic)
40503639527, |

sfauda gHardta  (irreversible

40503639528, isothermal) €1

llegedunias

tform



Question Number : 8 Question Id : 40503610863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
=

:'ﬁ; H-"'"_.

Consider a gas of triatomic molecules. The
molecules are assumed to be triangular and
made of massless rigid rods whose vertices
are occupied by atoms. The internal energy

of a mole of the gas at temperature Tis:

Options :
40503639529, SRT

40503639530.
40503639531, 2

40503639532, 2

Question Number : 8 Question Id : 40503610863 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




e SupEti #1 v T At F o)
i e & € o1 I8 9 o 9 &
S5 A F=9A Ued S99 (rigid) 991 9
SrETE E | 59 I H a9HE T W UE Hie Hi
A Fal 2

Options :

40503639529, SRT

40503639530. =

40503639531. =

40503639532, 2

Question Number : 9 Question Id : 40503610864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




A uniform thin rope of length 12 m and
mass 6 kg hangs vertically from a rigid
supportand a block of mass 2 kg is attached
to its free end. A transverse short wave-
train of wavelength 6 cm is produced at the
lower end of the rope. What is the
wavelength of the wavetrain (in cm) when
it reaches the top of the rope ?

Options :
40503639533, 6

40503639534.

40503639535, 7

40503639536. 12

Question Number : 9 Question Id : 40503610864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

T THTHA Toell TH fS9l o= 12 m
R TH9M 6 kg T TR T2H T € 3R
THF el f W 2 kg 5=99A #1 U @S
AEHI T2 | THF el il W6 cm T2
i T FHITE AOMEA (wavetrain) AT ST
T W g T % S SR Ug A 5
TS = T (cm #) 20T

Options :
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40503639533, 6
40503639534, 2

40503639535, 2

40503639536. 12

Question Number : 10 Question Id : 40503610865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

Two isolated conducting spheres S; and S,

. 1
of radius ;R and ER have 12 pC and

—3 pC charges, respectively, and are at a
large distance from each other. They are
now connected by a conducting wire. A
long time after this is done the charges on

S;and S, are respectively :
Options :
40503639537, & pCand 3 pC

40503639538, - weand 6 uC

40503639539, 45 nC on both

40503639540, T 2 nCand —45uC

&@;@ﬂegedunia%



Question Number : 10 Question Id : 40503610865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
garershi 9 =9 gU 3 g9 el S, 941 S,
™ i b 2 I K
fsmat for=amd wH: ERaﬂ? ER%,‘T{
12 uC 3R —3 uC AN E | F 7l UF gEL A
TEd g0 W T | 95 57 Tl F1 U gAed ar)
¥ e e 9™ @ 9= & @l 999 & 99ET
S, # S, T AT F A FHEA: B
Options :
40503639537, O - 3 uC
40503639538, 3 RC FTR6 uC

40503639539, +-2 pC ST

40503630540, + 5 WC 3R —45C

Question Number : 11 Question Id : 40503610866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




In the circuit shown in the figure, the total
charge is 750 pC and the voltage across
capacitor C 5 18 20 V. Then the charge on

capacitor C, is :

Cy =15 uF e

Options :

40503639541, 160 BC

40503639542, 0 RC

40503639543, 20 KC

40503639544, 090 BC

Question Number : 11 Question Id : 40503610866 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




o= ¥ femm@ T 9wy § Fa 99 # 99
750 uC ¥ 3R Haifd C, W deedi 20V F
7 feafa | | (capacitor) C, T &=
e

Options :

40503639541, 100 BC

40503639542, U HC

40503639543, 2 0 HC

40503639544, 090 BC

Question Number : 12 Question Id : 40503610867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




Model a torch hatter}' of Eength [ to be

made up of a thin cylindrical bar of radius

‘a’ and a concentric thin cylindrical shell

of radius ‘b’ filled in between with an

electrolyte of resistivity p (see figure). If

the hatter}' is connected to a resistance of

value R, the maximum Joule heating in R

will take place for :

Options :

40503639545.

40503639546.

40503639547.

40503639548.

Question Number :

7l va Jf
B ,(b)
17l - |

12 Question Id : 40503610867 Question Type : MCQ Option Shuffling : Yes Display Question Number & tollegedunias



Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 4 Wrong Marks : 1

2/ | WA S Al [ T i U 92l
59 UER 991 "1 T 58 e’ e & T
ATATER B GHAE ‘b 531 o UF SR
e (shell) F A< ¥ AR 576 =19 F =M
p EIGHEED (resistivity) %Wgﬁﬂ:ﬁlﬁzﬁ
WAt (FFA3d) | RSO R T F F
YA (resistance) H ST ST€0 & 1wy |
e 5[ & + o -

f— T —
i

Options :

40503639545. 2l

40503639546
R= F_}J.' In[EW
40503639547, e
R = 2—’: In(EW
40503639548, L

&collegedunia%



Question Number : 13 Question Id : 40503610868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
Magnitude of magnetic field (in SI units)
at the centre of a hexagonal shape coil of

side 10 cm, 50 turns and carrying current

I
I (Ampere) in units of .- is :
an

Options :

40503639549. S\E

40503639550, 503

25043

40503639551.

40503639552. 5003

Question Number : 13 Question Id : 40503610868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

TH SAER F TH FUSCAl & UH (9w
T 10cm © 3R TAH 50 99 (turns) T |
Ifs 59 [ UHiER O &1 U faga uw =& @

e H I = e
(SI units §) %1 9, [—_{: ¥ gFe | 2
\ T

Options :




40503639549. S‘E

40503639550, 503

2503

40503639551.

40503639552, 500N3

Question Number : 14 Question Id : 40503610869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
An elliptical loop having resistance R, of
semi major axis a, and semi minor axis b is
placed in a magnetic field as shown in the
figure. If the loop is rotated about the
x-axis with angular frequency w, the
average power loss in the loop due to Joule

heatf_ng is:

z

L}
Options :
wla’b?Blw?

40503639553, 2R

&@;@ﬂegedunia%



.’:Tame
40503639554, R

’:Tzazhzﬂzmz

40503639555, R

40503639556, ZCT0

Question Number : 14 Question Id : 40503610869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

(semi major) & F THEE a T AT
(semi minor) g F TEE b & qUT THR
Wfads R ¥l 50 UF geEEE o7 | fEEEn
W@ T 2 | AfE x-31%9 F =9R AR T o F
I W T I E 9 Foeedl § 29 Tl 99

Fifen 4 Ty vifem =1 =fraq afa 2 .
i
« <
y y
Options :
Tzazbzﬂzmz
40503639553, 2R



. mabBw

40503639554, R

’:Tzazhzﬂzmz

40503639555, R

40503639556. =

Question Number : 15 Question Id : 40503610870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

A 750 Hz, 20 V (rms) source is connected
to a resistance of 100 {2, an inductance of
0.1803 H and a capacitance of 10 pF all in
series. The time in which the resistance
(heat capacity 2 J/°C) will get heated by
10°C. (assume no loss of heat to the
surroundings) is close to :

Options :

40503639557, i8S

g
40503639558, 242 S

40503639559, 205 S

40503639560, 188

&@@ﬂﬂ@g%dumﬁa%



Question Number : 15 Question Id : 40503610870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

750 Hz U4 20 V (rms) = T &4 51 401 |
T g€ 100 Q F Wiy, 01803 H & UH
fE ud 10 wF 91far & U 9o1fiE | S e
T | TE A g T IS SO i et Ara-
I Fieis 1 a9HE 10°C 9 =1 S, ST
BN : (Wi T A e 2 J/°C ®)

Options :

40503639557.

40503639558, 245 s

40503639559, 2658

40503639560, 118 s

Question Number : 16 Question Id : 40503610871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

The magne tic field of a plane

electromagnetic wave is

B =3 x 1078 sin[200 (y + ct)]i T
where c=3 x 10® ms ~ ! is the speed of light.

The corresponding electric field is :

Options :




E=3x10"% sin [200 (y +ct)]k V/m
40503639561,

40503639562. sin| (y+ ]k V/

E =95in[2007 (y +ct)] k V/m
40503639563, sin (y +c]k V/i

E =—10"®sin [2007 (y +ct)] k V/m
40503639564

Question Number : 16 Question Id : 40503610871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
& THaeE faga-g=sE a1 & gEEd

=

&7 B =3 x 1078 sin[200m (y + ct)]i T €
T2l =3 %108 ms ™! W19 1 I 1 HA
39 T F1 faega & &

Options :

E =3%1078 sin [200m (y +ct)]k V/m
40503639561.

E =—=9sin [2004 (y + ct) L’t m
40503639562. nadd - RS | S

E =9sin [200 (v + ct) L‘u m
40503639563. [ ey

&wll}egedumia%
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E =—10"®sin [2007 (y 4 L‘L_]]R"u-"fm
40503639564.

Question Number : 17 Question Id : 40503610872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

In a Young's double slit experiment, light
of 500 nmis used to produce aninterference
pattern. When the distance between the
slits is 0.05 mm, the angular width
(in degree) of the fringes formed on the
distance screen is close to :

Options :

40503639565, -2

40503639566, 17

40503639567, 0-07°

40503639568, 0-17°

Question Number : 17 Question Id : 40503610872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




7 % UH 5-fof 7@ H 500 nm 1 HH
T=URAY TR o €| af fafiEi & <=
=l 21 0.05 mm & T = F1ell e & =1
=i Shviig = (Tl #) 7= 5 9 T Feem
i

Options :

40503639565, 0-27

40503639566, 17

40503639567, 0-07°

40503639568, 0-17°

Question Number : 18 Question Id : 40503610873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is

Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
When the wavelength of radiation falling
on a metal is changed from 500 nm to
200 nm, the maximum kinetic energy of the
photoelectrons becomes three times larger.

The work function of the metal is close to :

Options :
40503639569, 0-92 eV

40503639570, 0-61 eV

40503639571, 0-81 eV

&@;@ﬂegedunia%



" T
40503639572, 102 €V

Question Number : 18 Question Id : 40503610873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

U HIq W USH Al faH R $1 qiesd wE
500 nm H FEAFT 2[][]111‘.:1&:""’[??"?’["[%', Ll fetoe
Foll IF TS S g W g 7 oy @
FEFA 4 § 4 fFas ke 272
Options :

40503639569, V-2 eV

40503639570, 0-61 ¢V

T
40503639571, 081 €V

) T
40503639572, 102 eV

Question Number : 19 Question Id : 40503610874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
In a radioactive material, fraction of active
material remaining after time t is 9/ 16. The
fraction that was remaining after t/2 is:

Options :




W

40503639573.

e |

40503639574.

0| e

40503639575.

i
40503639576, S

Question Number : 19 Question Id : 40503610874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1
e LA 21 | ¢ I9F 918 9= gl 9
e AR § I9fEyd 9id Jerd &1 9/16
G| T /2 THA H T g vae AR
14 1 T T TR 21T 7
Options :
3
40503639573, 2

W | s

40503639574.

4
40503639575,




7
40503639576, O

Question Number : 20 Question Id : 40503610875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1

When a diode is forward biased, it has a
voltage drop of (.5 V. The safe limit of
current through the diode is 10 mA. If a
battery of emf 1.5 V is used in the circuit,
the value of minimum resistance to be
connected in series with the diode so that
the current does not exceed the safe limit
is:

Options :

40503639577, 20002

40503639578, 100£2

40503639579, 20 £

40503639580. 300 £

Question Number : 20 Question Id : 40503610875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes Is
Question Mandatory : No Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 4 Wrong Marks : 1




e U AT B FBEE 9EH WAl 6 g
@ THH 0.5 V T favEm @ # 1 2EE
Tfeqd Tad g0 s5H 9 SAfusan faga aw =
T 10 mA B 1 Ifs ush aftag 5§ 1.5 V i 52
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A cricket ball of mass 0.15 kg is thrown
vertically up by a bowling machine so that
it rises to a maximum height of 20 m after
leaving the machine. If the part pushing
the ball applies a constant force F on the
ball and moves horizontally a distance of
0.2 m while launching the ball, the value of
F (in N) is (g =10 ms ~2)
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A person of 80 kg mass is standing on the
rim of a circular platform of mass 200 kg
rotating about its axis at 5 revolutions per
minute (rpm). The person now starts
moving towards the centre of the platform.
What will be the rotational speed (in rpm)
of the platform when the person reaches
its centre
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A bakelite beaker has volume capacity of
500 cc at 30°C. When it is partially filled
with V  volume (at 30°C) of mercury, it is
found that the unfilled volume of the
beaker remains constant as temperature is

I and

varied. If Y (beaker) = 6x10—%°C
Y(mercury) ~ Bl L lr where v is the

coefficient of volume expansion, then Vm

(in cc) is close to
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An observer can see through a small hole
on the side of a jar (radius 15 cm) at a point
at height of 15 cm from the bottom (see
figure). The hole is at a height of 45 cm.
When the jar is filled with a liquid up to a
height of 30 cm the same observer can see
the edge at the bottom of the jar. If the
refractive index of the liquid is N /100,

where N is an integer, the value of N is

s
.
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When a long glass capillary tube of radius
0.015 cm is dipped in a liquid, the liquid
rises to a height of 15 cm within it. If the
contact angle between the liquid and glass
to close to 0°, the surface tension of the
liquid, in milliNewton m 1 s
[P (liquiay =900 kgm >, g=10 ms 7]
(Give answer in closest integer)
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